pag

[ Jorel Solz 9o 58 12 AL o= AU

20000 = 19999 +[ |
= 19990 +| ]
= 19900+ ]
= 19000 +| ]

@D 1,10, 200, 1000
3 2,20, 200, 2000

® 2,200, 2000, 20000

@ 1,10,100, 1000

@ 10,100, 1000, 10000




=

% A AL Sk oln AU

oo

N

@ <o] 3460, o] 8746 <1
@ 538565 2] 10000 B3I 4=
® 3625 Tk2] 1000 HiS1 4

@ 5999 ¢ 8430 Tt

® 849573647374



38\(579 Q 939/\43




4. ot

= % ol T A Q1 AL IEAQ,
® 967 97 @ 235+21 ® 405 =21
@ 681 =34

® 525+ 52



FJol|7} AFE BE =2 Aol By 10000 LA 3%, 1000
A [ A 10098 54 47, 109 A5 A 36 70 95

o}, FJol7t A5 B =] 53060 YU uf, [ [obef dure
A= =
TE FolA L.

e = 3



6.

U 78 A2 242,

100%to] 2
10%to] 13
Tkl 9
1000] 7

o] X
v

T







e 5L A% W RS o] @S ol AU
\\
-
@ @
L1
\\ //
N~
® @
T~
\\ //
1
®
S




7}




A

TN




= ofgoh e Ao uet 142 AL YU 5094 &

of ) @ ¥ ® A
® m oK



S 7PAIOIA 170 9] 10 3} 210 We] 15 4L wtche

22 8% dulelx] 514 Q.

2]



13.

5,0,2,3 9 Az s 4

5 A 0] FE

A 2.

Be



14. thg 5L olhZoR 59 AP 19 EFL o AU




15. o2 EgS 22502 39 FANUS WO TFS T2AQ.




16. 2eio][ete] Qliz 4o ifdel A A4 A4S 2 A
Yk, thg % 11 40] the shubs ol A7

d A a e E

1 2 3
4 516 7 8910
111213141516 17

1819 2021122 23| 24
252627282930 31

® 4+54+6=5x%3 @ 5+7=12
® 6+7+8=7x%x3 @ 7+84+49=8x3

® 15+16+17=16x3



17, 0 S /IS8 = 0 AL9le] el 58 aHs ), 41 Ael)
577} 291 5 FolH M 2 48 5L

[7] [ [o] [8][2] [5][9]
o e




£ 7oA 2.

et 7 @o] 7]




T
N
©

19 - = §=) ES —
. 1;]-_0_
HE a2 5 el et e
0] 7}; = 5—:& =
= : 1%
o =7} 2 7FET) Al
v —8 N AR
T j 7
= =212 & }
Eh= 25} S ohs
o] &
e

T8 2.
o AREIEIE



20.

43P sHgEo] Folohs A& ARt Lrebd B}
Yrh, B73-E Folohs M2 9 A 2412
Eobss A
8 30

20 —
10— —
O —

SRS _

| = | I | W | 25 | 2=t
k:



